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2 Sw=u+-(2n-1)
2 8 distance
. vV =
10 e time v(m/s)
SBraz10+7(2x3-1)=10+25=35m ) .
Lasoyxi :
10 Vuvg = 2 1 450
Sznd=10+?(2X2—1)=10+15=25m 1
3 0 )
Spd : Spnai 7:5 =5=1.5m/s
3. 4r_ = 2 0 0
dat 01 A=mnr 9. R=2acos§ 1=2x1cos§
B8 o B 0=120°
dt 2dt 11 0
= 0.29 cm®/sec R'=2asin= =2 1 5in60° = /3
4. C In addition least number of decimal points is
taken.
10 Tet A=2i+3] and B=i+]
5. x=3-6t ¥ = P2t e e
v.= % = Gt B v, = i_}t’ —9(_2 Component of 3 in direction of B = e ]'32B)B
att=1sec—> v_.=0 and v_. =0 2L P
= y =(2X1+3X1)(1+J)=§(i+j)
hence v=vi+vi=0 2 2

5

) ) Magnitude of component = 7=
6.  Energy per unit volume, force per unit area and g P J2

product of voltage & charge, per unit volume all
has dimensions [M'L-'T2] but angular momentum 0 0
per unit mass has dimensions [M°L>T'] 11. R=2a cos F= 2FCOSE

0 =120°
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B A.(A+B)=A.A+A.B=A?+0=A? 25.
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m = linear density = — 26.

L

o= (o) =[] = amens
[B] = NG AEARY = dimensions

of latent heat

A (Energy = power x time)

u,+u, 22.

2 = vz_vs U, —u, 23

-u, 24,

V = slope of x - t graph
If sign of v changes, then direction reverses.
if VT, then a > 0 and if er, then a < 0

two values of acceleration, velocity or
displacement. at one particle time are not
possible but two velocities are possible at one
value of displacement.

2h
= g=—7

1.5
h=—gt
o i

then §X100=[&+2A—t] x100 = ¢, + 2e
g h t 1 2
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V= Btk Siel=[tl=T;

[v]
[v] =[at] = [a] = m = {4 e

[b] = (LT-)T =L

u
Let time of flight be T then T = B

Let h be the distance covered during last ‘t’
second of its ascent

Velocity at point B = v, =u - g(T - t)
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h = tz—— ‘[2=— ‘t2
s g g =cF
(A+B]_[A—B]=o
A’ AB+ B.A-B2=0
—A=B (- A.B= B.A)
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1 1
v v 2v 3v

For avoiding collision: v_ < 0

U’+ 2aS_< 0 [III Eq. in of motion]
V.-V, +2 (-a)d < 0

(V,-V,)* < 2ad

2
d> (Vi _Vz)
2a

As [Energy] = [Force x distance]

unit of Energy  5J
10N

=0.5m

so unit of distance = ——
unit of force

Component of 3 on y = xcosO

(a—b)-(a+Db)
|§+Bl

Xy
y

Vg =2V,

VCAzﬂ = Vc—vAzxi . (1)
Ve—V; =X Ve—V, =x(i—])
Va = Xi-j)

A A

\7¢ =2Xi—-xj tan 6 = 1/2
B

A gt gob 108 A

p a b 2c¢ d

1
=3xl%+2x3%+5x4%+2%=13%
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— = —> > e
AB +AC = (AO +0OB) + (AO + 0C)
-2A0+0B +0C
o B
=2A0-0A
AT <
=2A0-A0
—
=3A0
D

[ CHEMISTRY]

he
E=T
he
Z,:E
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p
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E p
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P=E

(i) + (@)
(Vz)ﬁ»f =Y X 2

4

In a single ™ system energy of an orbital depends
only upon value of n.
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(COOH),.2H,0 — 2C + 60 + 6H

0.3 mol

1 mol (COOH).2H,0 = 6 mol O

0.3 mol (COOH).2H,0 = 0.3 x 6 mol O
= 1.8 mol O

nA = 2nur

2m _ 2x3.14x0.529x10  cmx4

A=
n 2

Mx5
100
M = 640

=32

IE);=-(E)y=x
E o 72

AE = E, - E,

3
PH,(g) - P(s) + 5 Hy(g)

100 mL 0 mL
0 mL 150 mL
AV = 150 - 100 = 50 mL

Maximum value of m, = +3

Value of 1 = 3
Value of n = 4
Z
Vo —
n

Molecular formula = (empirical formula)
78

=—=06
13

n

Meq. of NaOH =10x 0.5 x 2 =10
W £1000=10
40

w=04g
©)
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1’10
X, =—2—=025
Ny +1g
Xy, =—2—=0.75
n, +1n,
w wt Of 02
w = 100%
% Bk = wtof02+wt0f03>< ’
Wo, x100 = 32 ><100=£><100=18.18
W, +Wo, 32 +144 176
60.
Gram equivalents of acid = Gram equivalent of base
17
—=.1x1
EW
E, =170
M =2 x 170 = 340
61.
A h
X =
4mxmxAv
_ 6.62x107* x100 ~1.92%10°m
T 4%3.14x9.1x107* x600x0.005 ~
62.
Nuclei containing same number of neutrons are
isotones.
63. D
64. D
65. 2H, + O,— 2H,0
Initial 8gm 16gm
32 gm of O, - 4gm H,
4 .
16 gm ofOE— q—r)xl() =2 gm
Amount of H, left = 6 gm
66. C
67. D
68. C
69. A
70. A
71. C
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c
B
c
A
H,SO, + Zn — ZnSO, + H,
2NaOH + Zn — Na,ZnO, + H,
Gram amountof substance
No. of moles =
M,
No. of atoms = no. of moles x N,
Gram amount is same for all M, is minimu for B(s)
n°=A-27
for S*
n®=35-16 =19
If n=4
(=0
then m = (only)
5¢”+ 8H*+ MnO,—— Mn* + 4H,0
Orbital angular momentum of a p-electron is

h
given by = J({((+1) Py

= 1L +1)

27
h
1 h
“ 2 n
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No of atoms = No. of molecules x atomicity
=0.1xN, x3
= 1.806 x 1023

A

B

It is very dilute solution of NaOH

[OH']

total [OH ]Nu()]-l * [OH_]H:U

[OH ] 107+107=2%x10"M

total

i R?[l_i) et [25—4) 21R
A o4 25) T ¥ eswd )™ 100
100
21R
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